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[= 152,858]
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[A] 1,989,379]
2,565,779 1,456,759 1,109,020
[= 152,858]
4t AAY A (7] 266,432 ]
(= 211,030]
[~ 1,935,459]
2 FAte9- BAE ALY 556,613 249,750 306,863
A Fakehe- ALk EE A 50,000 0 50,000
301 LR A 50,000 0 50,000
12 71EtE 50,000 0 50,000
Oxus Z3dd=w A4
100,000 #2505 = 25,000
OFokA tHitgel= A4
25,000,000 %12 = 25,000
=] obakEke- A} uE b3} 311,300 171,000 140,300
202 o] ] 3,600 0 3,600
01 =ujodn] 3,600 0 3,600
O }Aakghe- Bl =& A ] 52
20,0001 %1803 = 3,600
206 A 5.1 36,000 0 36,000
01 AlEH] 36,000 0 36,000
O4 ol7put] FALSE &5
4,000%%3,000%F = 12,000
OF oA fra A A eFE T4
12,0009 %2,0005 = 24,000
307 W17ke] A 56,700 30,000 26,700
08 o]xr 7 56,700 30,000 26,700
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01 WZAERZE 215,000 141,000 74,000
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12 7|eti g 80,000 50,000 30,000
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100, 0004 #8005 80,000
402 H1ZEA}E 0] 15,313 28,750 A13,437
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oMy HA= FH Y Folsrt Ve nS 60,000 0 60,000
201 LWk 20,000 0 20,000
01 AHFE-#an| 20,000 0 20,000
O1 gyk&-H] 20,000
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10,000,000¢)%13] 10,000
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10,000,000¢1 13] 10,000
301 GRtRAF 10,000 0 10,000
10 PALAH B A= 10,000 0 10,000
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10,0009 %250%1 x43] 10,000
307 F17kol A 15,000 0 15,000
02 WA HEZ 15,000 0 15,000
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10,000,000 #31%0.5 = 15,000
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01 WZAER 175,000 0 175,000
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175,000,000 17} & = 175,000
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402 H17EA}E 0] 200,000 0 200,000
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OFolAl Al 7d A
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OFAtE7 Bdetd 2 A7 A%
20,0009%175%] = 3,500
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OEZTH /MEFed #Ad
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OYsdAaA4 64,800,000 0,63 = 40,824
7D EA A ] PAFHA] 7,950 2,650 5,300
301 LHtEgH 7,950 2,650 5,300
10 SBAA R B S 7,950 2,650 5,300
OFAs7t 9 =A 2vja 5 dA8
450,000 7t = 3,150
OFtols7t o] 100,000 #4091 = 4,000
O=%5 4 3HE ¢ 400,000 %238] = 800
FAHEoF FAkQD WA HAY 4,000 0 4,000
301 GRbRAF 4,000 0 4,000
10 YA B A= 4,000 0 4,000
O4s S5k 100,000 #4081 = 4,000
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291,600 248,805 42,795
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301 LutEgH
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12 7ERAda 291,600 248,805 42,795
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[7] 204,120]
(= 26,2441
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FAEFAE A
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[A] 2,240]
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(7] 8,000]
301 GRtRAF
(= 960]
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12 7]EtRA 11,200 0 11,200
OFAFI}AE A9 11,200,000 17} & = 11,200
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[A] 2,2401]
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13,500 15,000 A1,500
402 AR A [7] 8,100]
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O%o}A] A4k
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28,800 24,000 4,800
B 8,6401]
20,160]
28,800 24,000 4,800
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